BC103BQS Wall Seat

Installation Instructions

Safe Hands"™
A DOLPHIN Dispensers Brand
A WARNING
* Failure to follow these warnings and the installation instructions could result in serious injury
or death.

¢ Read all instructions before installing wall seat. Keep these instructions. DO NOT discard. N




ASSEMBLY INSTRUCTIONS

ADULT INSTALLATION REQUIRED.

TOOLS REQUIRED: A
Level (A) A2 2
Measuring tape (B)

Power drill with 3/8” bit (C) Cc
Power screwdriver with bull nose phillips bit (D)

CS

* READ ALL INSTRUCTIONS BEFORE ASSEMBLY OF WALL SEAT.
* Unpack carton and identify all parts.

PARTS LIST

Parts Description Quantity

Hardware for installation:
1/4 - 20 x 1-1/4” Machine Screws
1/4” Flat Washers
1/2 -20 x 9/16” T-Nuts
1” Caps

EEEN RN PN

1/4 - 20 x 1-1/4” Machine Screws 1/4” Flat Washers 1/2 -20 x 9/16” T-Nuts 1” Caps

IMPORTANT:

- The enclosed hardware is for through-bolt mounting on a 1” thick steel partition only. If mounting unit on a partition
of different thickness or on a wall, provide the appropriate backing and hardware.

- Wall seat MUST be mounted in a convenient location at or near the same height as the toilet tissue dispenser.
If mounting in a changing room, mount so bottom of wall seat is approximately 20-1/2” from the floor. Make
sure there is adequate clearance in front of the seat for safe operation.

A WARNING

¢ The wall seat is no stronger than the anchors or walls to which they are attached and, therefore, MUST be firmly secured
in order to support the weight they are intended to support. Contact an architect or building contractor if any questions.

¢ Check mounting hardware at least once a month to ensure screws are tightly fastened.
¢ Always secure child with restraint system. NEVER leave child unattended.

e DO NOT mount to a door.

page 2 | www.dolphindispensers.co.uk



INSTALLATION

1. Locate area that can support the wall seat when mounted to the partition. Top

2. Measure up 33” (84 cm) from the floor and mark the partition (Fig. a). () )
This locates the position for the top left attachment hole.

3. Align hole in top left corner of wall seat with mark on partition and hold in place.

4. Using a level and measuring tape, mark the remaining three (3) holes. After (203?;1m) (251561/n%;n) (31 4
marking holes, set wall seat down on ground.
33"

5. Use a power drill and 3/8” bit to drill four (4) holes through partition a mounting (84 cm)
points.

6. From opposite side of partition, insert four (4) T-nuts into mounting holes.

7. Align holes in wall seat with drilled holes and secure top left corner of wall seat
to partition using a machine screw and flat washer into the T-nuts. Continue to
secure the three (3) remaining corners using the machine screws and flat )
washers into the T-nuts (Fig. b).

| AFF Fig. a

Machine
Screw

Wall Seat

A WARNING

¢ All 4 of these locations MUST be used for safe installation.

8. Ensure all four (4) screws are tight and snap caps over screw heads.

NOTE: Operate seat three (3) or four (4) times to ensure proper function.

OPERATION:

Rotate base downward. Place infant on top of the changing surface. Use restraint system as described below. After child has been
changed, remove restraint system and rotate base back up against the wall.

USE OF RESTRAINT SYSTEM:
Place child on wall seat. Place restraint system over child shoulders and buckle between child’s legs. Insert buckle tongue into buckle

and snap together. To tighten or loosen straps, slide adjuster up or down strap. To remove restraint system, press sides of buckle to
release tongue and pull tongue out of buckle.

MAINTENANCE AND CLEANING:

Check all hardware and components monthly or as required to ensure hardware is tight and there are no missing or damaged
components. Take unit out of service if any component is missing or damaged and contact customer service to order replacement
parts. Do not substitute parts. For replacement parts, contact customer service at 1-877-716-2757.

Clean by using a damp cloth with mild soap or mild multi-purpose cleaner. Do not use any strong chemical cleaners or
cleaning agents that may be hazardous to children.

page 3 | www.dolphindispensers.co.uk



0800 0723 404 .

Bell-Chem Products Company info@dolphindispensers.co.uk “
Haywood Way, Hastings, TN35 4PL www.dolphindispensers.co.uk Sugfs:Hands




